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1. Production volume is dependent upon not only the technical skill level but
in the quality of work.

(A) level
(B) durability
(C) consistency
(D) wvacancy
2. The accountant’s small but inexcusable mistake was she did not
properly record all of the travel expenses.
(A) what
(B) that
(C) why
(D) whatever
3. Our population is rapidly decreasing, which must be with instantly
for our bright future.
(A) dealt
(B) interfered
(C) handled
(D) kept
4. Radio host John van Gusten interrupted his guest in order to
prevent certain information from being broadcast.
(A) aggressively
(B) gracefully
(C) interrogatively
(D) intentionally
5. he understood the shipping requirements, he would not have said
such a silly thing in front of us.
(A) Did
(B) Should
(C) Had
(D) If
6. The state-of-the-art train runs on tracks powered by equal
amounts of electromagnetic force.
(A) preparatory




(B) preliminary
(C) parallel
(D) perpendicular
7.  Guests at the reception will be served a meal after the first keynote
speaker delivers her address.
(A) complimentary
(B) supplementary
(C) sentimental
(D) complementary

The Paris Agreement has a “bottom up” structure in contrast to most
international environmental law treaties which are “top down”, characterized __ 8.
standards and targets set internationally, for states to implement. Unlike its
predecessor, the Kyoto Protocol, which sets commitment targets that have legal force,
the Paris Agreement, with its emphasis on consensus-___ 9. , allows for voluntary
and nationally determined targets. The specific climate goals are thus politically
encouraged, rather than legally 10. bound. Only the processes governing the
reporting and review of these goals are mandated under international law.

8. (A)of (B)by (C)over (D) that
9. (A)building (B)making (C) gathering (D) owning
10. What is the best definition of bound?

(A) Border

(B) Infinity

(C) Restriction

(D) Determination
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